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2. SiCo �	
��
��	��	��������  ( Simple Computer) 
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2.2 $���%�&��'	� SiCo 
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2.3.1 D Flipflop 
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�()!*+ 2.2  ��กRS���� D Flipflop  ��(�*%%
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ก��!#���"'	� 23�)23	)4   D  
������K� Q �!���)� !��
�$���� ����K� D �Kก���(����
�"�<<�S CLK (C) 
�ก���K	� *�$�	��!8�O������
�
"�<<�S���'7� (R)  ������K� Q ���!8�&���ก 0 �������
���"�<<�S����� R �!8� 0  &�) 
$"���"�<<�S�� D 
���� C  *�$�	�"�<<�S R �!8� 1 ������K� Q ���!���)� !��
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2.3.2 �*-�%��	��'"�5 1  �� (1_Bit Register) 

 
 

�()!*+ 2.3  ��กRS���� ����"��������� 1 %�� 

ก��!#���"'	� �*-�%��	��'"�5 1  ��  
�
��� Reset = 0 ������K� Q = 0 
�
��� Reset = 1 ก���������!8������( 
�
���
�"�<<�S��[�ก� C�	� Load = 0  ������K� Q ���$����
 
�	� Load = 1 ������K� Q = Input X 
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2.3.3  ;2�2	���*-�%��	��'"�5 4  �� (4_Bit Buffer Register) 

 
�()!*+ 2.4  ��กRS���� ����"��������� 4 %�� 

 

ก��!#���"'	� �*-�%��	��'"�5 4  ��  
�	� /CLR = 0  ������K� Y3Y2Y1Y0 = b0000c 
�	� /CLR = 1 ก����������(��)#$ก�% CLK *��  LD   &�)�
���
� CLK 
�ก���K	� 

� �	� Load = 0   Y3 - Y0 �����$����
 
� �	� Load = 1  Y3 = X3, Y2 = X2, Y1 = X1 *�� Y0 = X0 
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�*-�%��	���	�!��=!  (Output Register) 

 �O	 Buffer Register ���� 4 %�� ����!8�����"�����������K�"�����%ก��*"��H� 

 
 

�()!*+ 2.5  ��กRS���� ����"�����������K����� 4 %�� 

�*-�%��	�� B  (B Register) 

 �O	 Buffer Register ���� 4 %�� ����!8�����"����� B ������O	�ก7%�	�
#����
 !  
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�()!*+ 2.6  ��กRS���� ����"�����������K����� 4 %�� 

 
 

2.3.4 �*-�%��	�� 4  ����&	
 ;%%	�!�A!�� (4_Bit Buffer Register with Bidirectional Bus) 
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�	� E = 1  "�<<�S������K���� D3, D2, D1 *�� D0 ���)#$��"���� High Impedance     �O	��"������
��%�	�
#�����K�&�)   

�	� LD = 1 ����%�	�
#���� D3-D0  !�ก7%�
	j�)������"�����   
�	� LD = 0 �����$��	�
#����
 
$�ก7%�	�
#���
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 �	� E = 0  �	�
#�����ก7%�)#$j�)������"�������!��กk��ก���"�<<�S D3-D0 
 "�<<�S /CLR �O	"�����%�����	�	�
#�j�)������"������!8� 0 ��(��
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